Definite Integral U-substitution
Objective: Use a change of Variables to evaluate a definite Integral.

Warm UP: Find the indefinite integrals by U-substitution.
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Exit Slip (U-Substitution) : When you completed this Exit Slip, check your answers with your group
members. When all your group members agree to the solutions, raise your hands to get a stamp from
Mrs. Shim

1. Find the indefinite integral by U-Substitution.
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2. Evaluate the definite integral by u-substitution.
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More U-Substitution (Day Three):

Indefinite Integral:
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2. Evaluate j xv2x+ Sdx
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